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Instruction : First 15 minutes are allotted for
upboardonline.com the candidates to read the
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There are in all eight questions in
this question paper.

All questions are compulsory.

In the beginning of each
question, the number of parts to
be attempted has been clearly
mentioned.

Marks allotted to the questions
are indicated against them.

Start from the first question and
proceed to the last one.

Do not waste your time over a
guestion you cannot solve.
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HifT :

%) O wE A={1,2,3,4},

B={2,'3,4,5}, c={4,5,6,7}, d

A~(B-C) &I HF FId HIVT | 1

@) HHHI tan? 0+ cot? 9 = 2 I BT W
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1. Attempt any four parts of the following :

a)

b)

d)
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If set A={12,34}, B={234,5},
C={4, 5, 6,7} then find the_value
of A-(B~C). | 1

Find the general value of

6 by solving the equation

tan?6+cot’0=2. 1

Find the magnitude and argument
of (1+itana). o1

Find the fifth term from
the end of geometrical progression
-1

16,8,4, 2, ... — 1

‘16"

1= 11
If A‘[—l 1] and B‘[l 1]

then show that AB is a null (zero)

matrix. 1

.t
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'ARTICLE' 71 & anR ¥ fFas v

¥47, 9f€ @R A, I E %9o faug =
T g ? . 2

'qﬁa,b,cmﬂ'ﬂﬁﬁ_ﬁmx,y,z
TR Sot § @ @ fag s
fHxPc yo 2. 290 =1, 2
gfe 2tanA = 3tanB,  fag FivT

sin2B '
4 - B)= 28 2
& tan(A - B) ey
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2..  Attempt any four parts of the following :

a)

b}

d)
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By determinant method show that
the points A(a,b+c), B(bc+a),
C (e, a + b) are collinear. 2
Find the Iterm independent from_

x in the expansion of follewing :

How many words can be formed of
the letters of the word ‘ARTICLE' if
vowels A, I, E occupy odd places
only ? | - 2
If a, b, care in A.P. and x, y, z are |

in G.P. then prove that
xThy .z =1, 2
If 2tan A = 3tan B, then prove that

sin2B

tan (4= B) =5 os2B"

2
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T T |
scc(z+ B). sec(z me) =2sec20. 2
@), frg #iNT % (AUBy =A'~B'. 2

M) ¢ si.n[%«sin'l(-%)] H HE  FIT

ity | 2
) (1—%)ﬁga“ramﬁaﬁﬁﬁhqn 2
), T+ (1+2)+(142+3)+... . n GGl

ARTES T HifwT | 2
Attempt any four parts of the following :

a) Prove that

s s _
SEC(E + B) ) SEC(E - 6) =2sec206. 2

b)  Prove that (AUB) = A'"nB'. 2

) Find the value of sin [77; —sin’l(—éﬂ.

2
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d}  Express the polar form of (1 - %}

2

e} Find the sum of n'* terms of

I4(1+2)+{(1+2+3)+... . 2
fefefed & & fFel @R @vel &t &

PO

%) frafafea i faem w5 sl
fafy & &e1 ey
x+2y<8
2x+y <8
x20,y20. 3

_ . z-1

g) 3R z=x+iy O 1
#im I OE @ R
2 ry?-2y=1. 3

m o s fafa @ fag St
720 42313 3l e N o gl ol
% for 25 o faarsy 3

217430
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yiafesl f:R > R B ®eT f(x) ,

f(x)=sinx, Vx e R gRT TG &,

-t fag Fifae % wiafesm 7 ot wdheat &

3R A HBEF ¢ 3

4. Attempt any three pa.rté of .the

following :

a)

b)

217430

Solve - the following system of
inequalities graphically :

x+2y<8
2x+y <8
x20,y=20. 3
If z=x+iy and argument of
z—;—i is % then prove that
x4 y? - 2y =1. 3

Prove that by mathematical
induction method for all values of

7°" +2%173 371 s divisible by 25,

nelN. 3
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d) In mapping f:R—> R, f(x), is

defined by f(x)=sinx,VxeR.

Then prove that mapping is

neither one-one nor onto. 3

5.  frfeifea 4 @ st @ wogl =t &
I
%) AR tanO+sin®=m T
- tan®-sin6 =n, @ fag Hifew
m? —n? = 4Jmn . 3

) fog i fr g, = RELL g

r=1"

3
™ (l+x)" & WER H, f@g #w @

¢, 2C, 3C, n.c, _nn+1)
b+ . +—" = :
c, € G, C 2

n-1
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p: 80, 5 TR |
q: 80, 4 T 0 ¢ |
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S. Attempt any three parts of the
_ following : '
a) If tanf+sin6=m and
tan® —sin® =n, then prove that

2=4ymn. - 3
b) Prove that

“C _n-r+l nCr—l ) 3

c} - In the expansion of (1+ x)7?,

‘prove that
C] + 262 + SCB A ?’LCH _ n[n + 1) '
CD Cl C2 Cﬂ-l %
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6.

d) Two statements are given below :
| p: 80, is.a multiple of 5.
g : 80, is a multiple of 4.
Find the"comljoun!:i statement by
connecting "and" in  these

statement and check the validity. 3

frafefes & & 5t & @ ® @@

HifT -

%) UH @hed §9 el wOA H UF |
wive §1 wiel § 70% au el §
30% WX w98 &1 Wl § 80%
@Tmﬁﬂmﬂrmﬁww-nﬁ
90% M TUrar as. T "s’“‘i'w
T qGfEh E R e @ #R
uF T UE ST I S g
W-llﬁﬁ#ﬁwm%? 4
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Rl ien 0-10 | 10-20 | 20-30 | 30-40
BElH EE | 3 4 7 6

40-50 | 50-60 | 60-70
15 5 2
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6.  Solve any one part of the following :

a) A scooter manufacturing company
has two plants. Plant-I
manufactureé 70% of the scooters
and Plant-II manufactures 30%.
At Plant-I, 80% of the scooters are
of standard quality and at the
Plant-1I, 90%. of scoofers are rated
of standard quality. A scooter is
chosen at random and is found to
be standard quality. What is the
probability that it has come from
Plant-II ? 4
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b) Find the mean deviation from

the mean for the following

distribution : . 4

Marks | 0-10 | 10-20 | 20-30 | 30-40

No. of

Students 3 4 7, o

40-50 | 50-60 | 60-70
15 5 2
7. Trafefes & @ 5t & @ + @

ity - ]
%) frafefea giteol & ez fafy @
ﬁﬁﬂﬂﬁm:

2x~-y+3z=9

x+y+z=56
X—-y+z=2 o 4

@) 3T cos™! x+cos™ y+cos'z=n @,

ot fag T x? + y? + 22 + 2xyz = 1.

217430
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any one part of the following :

' Solve the following equations by

matrix meth’qd :

2x-y+3z=9

x+y+2=6

xvyfzzﬂ 4
If cos™ x + cos™! y+coslz=n

then prove that

x2+y2+zz+2xyz=1. 4

8 Ffefeg 4 ¥ @ & @ & @&
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217430

fag =ity fom

a b c
a2 bﬁ C?

bec ca ab

»

(a - b)(b-c)lc ~a){ab + bc + ca)
4

urn over
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8. Attempt any one part of the following :

- a) Prove that

a b ¢

a’ b ?|=

be ca ab

(a=b)(b-c)lc-a)ab + bc +ca)

-4

bJ] In any set A, the two relations
R and S are equivalences  then
prove that 'R S'is an equivalence

relation. 4
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